


12.

13.

14

there is at least one person from each party on the committee? Express your answer as a fraction reduced
to lowest terms.

A circle has the line x — 2y + 4 = 0 tangent at the point (0, 2) and y = 2x — 7 tangent at (3,—1) . Find the
exact area of this circle.

When 2°°" is written as an integer, how many digits are there in the integer?

A wnman is siffing in the stands behind ove end rane of a faothall field She ohserveg, ju the same seertical
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J unior/genior Individual Test

Note: All answers must be written legibly and in simplest form. Exact answers are to be given unless
otherwise specified in the question. No units of measurement are required. Each problem has the
same noiyf-ygluechpweyer tiee fop fndjvigdngl awards will bedwralewhased annroblem diffirnlty
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